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MECE-001 : ECONOMETRIC METHODS

Maximum Marks : 100

Note : Answer any two questions from Section A and any five
questions from section B.
SECTION-A
1.  Consider the regression model 20
Y;=a+pX;+u;
where u~N (0, a?)
(a) Find the least squares estimators for « and B.
(b) Find the least squares estimator for 2.
2. Suppose in the regression model Y,=a+pX,+u, 20

the error term u,=pu,_;+3,;

where 3~N (0, o5?).

(@) What are the consequences if OLS method
is applied to estimate o« and B ?

(b) Suggest a procedure to estimate this model.
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3.  Consider the following simultaneous equations 20
model.

Y1=0a13Y3+Brpxp+uy
Ya=ap1y1 +aggyz+ ByyXy + Byt iy
Y3=azys+ Baa¥atuy

Check the identification status of each of the

equations in the model on the basis of order and
rank conditions.

4. Explain the underlying ideas behind the linear 20
probability model. What are the problems
encountered in this model ? Explain how the
probit model takes care of these problems.
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10.

11.

SECTION-B

Explain how generalized least squares (GLS) can
take care of both autocorrelation and
heteroscedasticity.

Prove that ordinary least squares estimators are
best linear unbiased estimators (BLUE).

What is the use of chow test ? Explain the steps
you would follow to use chow test.

Define the partial adjustment model. How is it
different from dynamic models ?

Explain the steps followed in instrumental
variable (I V) method. Substantiate how it is useful
in solving over-identified equations in a

simultaneous equations model.

Write a short note on the method of principal
components analysis.

Comment on the usefulness of coefficient of
determination (R?) as a measure of goodness of
fit. Does a higher R? necessarily mean that the
underlying model is better than one with lower
R??
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12. Write short notes on the following :
(a) Problem of multicollinearity.

(b) Problem of heteroscedasticity.
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(a) TEHEA Sl T
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